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Properties of Multiplication
1 B 1 Properties of Multiplication (1)

I_I_' Complete the following multiplication table.

Multipliers
12 41516 Do you remember
Facts of | | 1121314 5 6]7|8]| 9| the multiplication
Facts Of2 2 2 4 8 |2 Ié facts? Fill the blank
with the results of
Facts of 3 % 313 69 18 multiplication of
Facts of 4 % 4L | 4|8 20 multiplicands and
multipliers.
Facts of 5 ié_ 5 5110 o
Factsof 6 5| 6 | 6 £
Factsof 7 = | 7 | 7 ”!"'
Facts of 8 8| 8
%% Facts of 9 919 %%
== [3EI5 Write the numbers in the .
The answer to ( T4 |
00 O
7 X 4is| 7 |larger [ [2]3]4]5 000 O
707 1421] 135 888 ‘ 8
than 7 X 3. NAANAS 000 ©
T T 7T 000 O
When the multiplier increased by |, ‘OQO’ \('),
the answer increases by the multiplicand. 7x3 +|7
7 X 4
The answer to ——
EEEE 99987 S
7 X 4is| 7 |smaller o T1aloll |35 8888.8
than 7 X b. 77 77 0000 ' @
When the multiplier decreases by |, \OOQO = \(‘) /
the answer decreases by the multiplicand. 7Tx5 —|7
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W JICA_3%F_Z3F5_P002-011. indd 2 $ 2022/02/25 12132149(




| - I

~3
X
o1

7 : :
(2 Write the numbers in the 2000 O
o000 O
- 860080
The answerto 7 X bis larger oaae o
0000 O i
than 7 X 4. —— -~ 00000y O
800007 . &
The answerto 7 X 5is smaller 00000 DO
00000 ' O
00000 O
than 7 X 6. 00000 O
3 X 4 7 X6 -~
The answer to 3 X 4 is 3 larger 000 O
000 @o
00 O
than 3 X 3 X3 -
OEDXC;O"‘ @)
The answer to 3 X 4 is 3 smaller Q000 DO
0000 O
3 x5 -
than 3 X s
I_>‘<_\

The answerto b X 3is

larger

00000

Q0000
@O

{00000

than b X 2.

(&)
X
N

~
- X
(0.9]

The answer to 4 X 8 is 4 smaller

00000000 O
2335835 92
than 4 x 000000003 ©
4L X9
|_3—| Write the numbers in the
7 X b 7 X 4 + 7Xh5H =T7X6—
3 X 4 3 X + 3 3 X4 = 3 X -3
b X 3 b X 2+ 4 X8 = 4 X — 4
8 X 6 8 X 7 — 6 X7 = 6X — 6
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( Properties of Multiplication A
1 - 2 Properties of Multiplication (2)
. J
—»[3ZJ5 Look at the multiplication table and answer the
following questions.
Find the multiplication math TX4
sentence that has the same Q000 4 X7
0000 | : \
answer as 7 X 4, 0000 0000000
{rm) Se5s gesssss
X = X = OOOO
7x 4 4 ! 28 Q000 OOO00O00OO0
Q000
. s . Multipliers
Find the multiplication math 1213415161718 1(39
sentence that has the same | 11234567/ 8|9
answer as 9 X 3. 21214160 8/10/12/14]16/18
B (336 4124548212412
9X3=|3|X]| 9 |=]|27 ®| 4 48 ]|12]16]20|24]28]32/36
5|5 5/10/1p|20/125|30|35|40/45
o Z16|612/18243036/42|48|54
When the orc.ler. of.the multlpllcand E 7 7 141211283514249 56 63
and the multiplier is switched, the 818 1612L32140/48/56/64 172
answer remains the same. 9)}-9-+8127 3645|5463 728

Find the multiplication math sentences that have the same answers
as the following sentences. Then find the answers.

7 X b= X = 9 X 4 = X =
2 X 9= X = 4 X 6 = X =
6 X 3 = X = Hh X 8= X —
| X b = X = 3 X 2= X =
8 X 4 = X = 9x7= X =
2 X7 = X = 6 X b= X =

4
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Properties of Multiplication

Properties of M

ultiplication (3)

<@ [FE0HE  Write the numbers in the

8><6<

000000
5 X 6=30 000000
000000 I 5 x 6
3% 6=118] | 5x64000000.
—y 506000
Altogether | 48 888888 L 3 % 6

In multiplication, even if the multiplicand is divided up and
calculated, the answer is still the same.

In multiplication, even if the multiplier is divided up and
calculated, the answer is also the same.

Write the numbers in the

W JICA_ 3% _AE&_P002-011.indd 5

[OO00000T]
Q00000
_ OO000O0O0 - 5x6
5 X 0= Q00000
7X0 1000000 |
X 6 = Q00000
Q00000 | 4 x ¢
Q00000
Altogether LO00O00O0
3 X 8= 4 X 9=
8 X 9<
X 8= X g =
Altogether Altogether
X 4 = X bh =
x5
2 X 4= 3 X b=
Altogether Altogether

5
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[ Properties of Multiplication
1 =4 Finding the Numbers

<= [FEJE  Write the numbers in the

5g><3

6 X | 4 |=24 =115
| [2]3(4)5] | [2]3]4]5
| 1 G0 You can use the |
:23 ¢ U * multiplication table. g
4 4 v
5 (5)e— 15
6 » 24 6
Write the numbers in the
%% 6 X = 48 7 X = 2|
5 X = 10 9 X = 45
4 X = 16 2 X = 16
3 X = 2| X3 =18
X 2 =10 X 4 = |2
X 8 = 32 X 7T =49
X 5 =40 X 6 = b4

6
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Properties of Multiplication

1 B 5 Various Ways for Calculation

10 X 4 = 40?

C‘;a}é |0 is divided into 7 and 7.
71xX 4=|28

|O><4<
3 (%X 4=|12

Altogether | 40

[0 X 4

—»[3&5 1 Calculate the following multiplication problems.

Q00O 7x4

0000
Q00O 3x4
Q00O

Ll_' Calculate the following multiplication problems.

10 X 8 =

%} 0 x5 = 0 x 3=
Bx4==52?

A@é |3 is divided into 8 and 5.
8|X 4=|32
|3><4<
51X 4=|20

Altogether | 52

13 X 43

[

< [3€1:[5 2 Calculate the following multiplication problems.

0000 |g

-5 X 4

00000
00000
00000
00000

(

LZ_I Calculate the following multiplication problems.

14 X 4 = [ X 6=

|7 X 3 = |6 X 2 =
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|12 X b =

|Ib X 3 =

7
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Properties of Multiplication

Multiplication with 0

7 X0 =

0 X 7=

0

—w[3€r]J[5 Calculate the following multiplication problems.

24

When a number is multiplied by O,

the answer is always 0.

Also, even when 0 is multiplied by a

number, the answer is always O.

I_I_' Calculate the following multiplication problems.

8 X 0=

0 X 6=

3 X 0=

29 X 0=

I_Z_I | played a scoring game. The score is the point written where
the coin is stopped by flipping the coin with my finger. As a
result of doing | times, the results were as follows. Calculate the

total of my scores.

Where the coin
stopped (points)

Number of coin
stopped (times)

Score (points)

0

3

4

0

5

Total Score

Math sentence

0 points 3
points

3 points

0 points

Start

Answer

points
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[ Properties of Multiplication A
1 B 7 Multiplication by 10 and 100

~ (3«15 1 Calculate the following multiplication problems.

When the multiplicand
20 X3 = éog is multiplied by 10,

the answer is also

2 X 3 = 6 /// : //ﬁ?/ multiplied by 0.
l 10 times l 10 times
20 x 3 = 60 // : // / R

I_I_' Calculate the following multiplication problems.

20 X 4 = 30 X 3 =
40 X 6 = h0 X 7 =
90 X 8 = 80 X b =

~[3€0:5 2 Calculate the following multiplication problems.

When the multiplicand
200 x 3 =600 is multiplied by 100,

the answer is also

2 x 3 = 6 multiplied by 100.
l |00 times ll 00 times
200 X 3 = 600 &7k

LZ_I Calculate the following multiplication problems.

300 X 3 = 00 X b =
400 X 6 = 800 X 9 =
700 X 7 = 600 X b =

9
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Properties of Multiplication
] -8 |
Review

I_I_' Write the numbers in the

The answerto 8 X 6 is larger than 8 X 5.

The answerto 9 X 4 is larger than 9 X 3.

The answerto 6 X 3is larger than 6 X 2.

The answerto 7 X bis smaller than 7 X 6.

The answerto 3 X 8is smaller than 3 X 9.

The answerto 4 X 6is smaller than 4 X 7.

LZ_I Write the numbers in the %%

5X6 =5 X5+ 8X4 = 8X3+

TX4 =7X3+ 3X5 =3X6-

6 X8 =6X9— 2X6 = 2XT7—

L3_I Write the numbers in the

5 X b= b X 6=

7 X 5< 6 X 6<
X 5 = X 6 =
Altogether Altogether

10
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4 X
<7><6<

X

7 X
|2><3<

X

Altogether

|_4_| Write the numbers in the

6 X =

X 8

48

32

20 X 8 =

90 X 6 =

300 X 7 =

0 X5b=
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6 X 7=
IO><7<
X 7=
Altogether
9 X 4=
|5><4<
X 4 =
Altogether
3 X = 2|
X 5 =40
X 2=10

Calculate the following multiplication problems.

50 X 7 =

400 X 8 =

600 X 3 =

8 X 0=

11
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